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QUESTION 1

You are troubleshooting a device that has not successfully connected to the network. You know the device\\'s
hostname, and have taken all steps to locate it in the Mist dashboard, including asking Marvis to locate the device.
However, you are not able to find the device in the Mist dashboard. In this scenario, what is the problem?

A. You need to ask Marvis to locate a client, not an AP.

B. The device has not successfully associated to the network.

C. You need to select the correct group of access points.

D. You have the wrong SLE selected.

Correct Answer: A

Reference: https://www.mist.com/documentation/troubleshoot-specific-connectivity-issues- using-marvis/

QUESTION 2

You need to deploy an external, directional patch-panel antenna to provide coverage in a specific area. You plan to use
a Mist AP43, which has a 4-stream 5 GHz radio, a 4-stream 2.4 GHz radio, and a dual-band 2-stream radio for
monitoring. In this scenario, how many dual-band connectors should the antenna have?

A. 4 connectors

B. 10 connectors

C. 6 connectors

D. 3 connectors

Correct Answer: C

Reference: https://www.mist.com/resources/ap43-access-point/

QUESTION 3

Referring to the exhibit, what does the security alert indicate?
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v : @ Rougue AP detected

Reporting APs d4:20:p0:02:18:a9
SSIDs Linksys05406
Rogue BSSIDs 302303c4f44f

A. An AP that is not part of the Mist Org is connected to the same wired network as the Mist APs.
B. An AP that is not part of the Mist Org is launching a DDoS attack on the Mist APs.

C. An AP that is not part of the Mist Org is advertising the same SSIDs as the Mist APs.

D. An AP that is not part of the Mist Org is operating in the same RF channel as the nearby Mist AP.

Correct Answer: A

Reference: https://www.mist.com/documentation/rogue-neighbor-honeypot-aps/

QUESTION 4

What are three available rate limiting options in the Mist UI? (Choose three.)
A. Network

B. Application

C. wLan

D. Per-Client

E. Per-Site

Correct Answer: BCD

Reference: https://www.mist.com/documentation/wlan-rate-limiting/

QUESTION 5
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Natural Language Query Language
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ACTIONS * Qrg A Sites
0 Switch Clients
2 AP Security

o0 Authentication 0 DHCP, DNS

0 Health Check Fall..

AP OFFLINE [BETA]

RECOMMENDED ACTION

CHECK THE AP CONNECTION TO THE MiST CLOUD

For issues with individual APs, please test the cableport or perform a factory reset. For issues with tihe ensine switchsite,

please check the configuration to reach the MIST cloud.

site Access Point Details

Store 37 s37-ap-1 Locally oniine, Wigw More
Referring to the exhibit, which two statements are correct? (Choose two.)
A. The AP is able to reach the Mist cloud.
B. The AP is not able to reach the Mist cloud.
C. The AP\\'s radios are not broadcasting SSIDs.
D. The AP\\'s radios are broadcasting SSIDs.

Correct Answer: B
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